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This week the position and game come from the
current Aeroflot Open being played in Moscow
where over 650 players are competing in four
sections, including 76 in the main event, with a
prize fund this year of €180,000. The position is
from Rakhmanov – Nepomniachtchi. White is
a piece up but with a bishop en prise and mate
threatened. By pinpointing Black’s weakness 
White is able to retain his piece advantage in a 
spectacular way with his 1st & 3rd moves 
(5 moves in all):
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Our game rather appropriately features one of the sharpest of present day openings, the Botvinnik Variation in the Semi-Slav Anti-Meran, which was used by Botvinnik as Black with devastating effect on Board 1 against Denker in the USSR-USA Radio Match in 1945.

             Zhou Jianchao - V Papin


         2010 Aeroflot Open, Moscow

       Semi Slav, Anti-Meran Botvinnik Variation

1.d4 

d5 

2.c4 

c6 

3.Nf3 

Nf6 

4.Nc3 
e6 

5.Bg5 
dxc4 

6.e4 

b5 

7.e5 

h6 

8.Bh4 
g5 

9.Nxg5 
hxg5 

10.Bxg5 
Nbd7 

11.exf6 
Bb7 

12.g3 

c5 

13.d5 

Qb6 

14.Bg2 
0-0-0 

15.0-0 
b4 

16.Na4 
Qb5 


17.a3 

Nb8(a) 
18.axb4 
cxb4 

19.Qd4 
Nc6 

20.dxc6!! 
Rxd4 

21.cxb7+ 
Kb8(b) 
22.Be3 
e5(c) 


23.b3! 
c3(d) 

24.Rfd1! 
Bh6(e)  


25.Bxd4 
exd4 

26.Rxd4 
c2 

27.Rc4 
c1Q+ 

28.Raxc1 
Bxc1 

29.Rxc1(f) 
Rd8(g) 
30.h4 

Qf5 

31.Rc6 
Qb1+ 

32.Kh2 
Qf5 

33.Nc5 
a5 

34.Ra6 
Kc7 

35.Ra8 
resigns (h)
a) Better is 17...exd5 18.axb4 cxb4 when 19.Re1 or 19.Be3 lead to huge complications. This artificial retreat leads to a stunning refutation. 
b) 21...Kc7 may be better.

c) If 22...Rd5 23.Bxa7+! Kxb7 (23…Kxa7? 24.Nc3+) 24.Nb6 Rh5 25.Rfc1 leaves White on top - 25…Bc5? 26.Nxc4! Bxa7? 27.Nd6+.

d) If 23...cxb3 24.Rfc1 Bd6 25.Bxd4 exd4 26.Rc6 Bc7 27.Nc5 wins.

e) If 24...Rxd1+ 25.Rxd1 Qe8 26.Be4 with complete control.
f) White now threatens 30.Rc6 31.Nc5 32.Na6+. 

g) If 29...Qe5 30.h4 Qxf6 31.Rc6 wins. 

h) 35…Rb8 36.Na6+.

At the Moscow Open, which preceded the Aeroflot Open, the top rated player in the B tournament was disqualified with organisers claiming he had intentionally lost a number of games prior to the event to lower his rating sufficiently to qualify for the lower group.  In all over 1,500 players from 30 countries competed in Moscow with 187 players in the main event.
SOLUTION: 1.Qe5!! (threatening 2.Qxg7# & if 1…Rxe5 2.Rd8 mates) 1…Qh1+ (pinning & hoping to deflect White’s rook from the open file) 2.Rd1 Rxe5 3.Bxe5!! (3.Rxh1? allows Black to recover the piece by the half-pin 3…Rc5) 3…Qa8 (removing the queen from danger and defending against the threatened back row mate) 4.Bc7 winning the queen with 5.Rd8+.
